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NUMBER: 1197 SSC PART-I (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-! by - osd (oof SO S
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Note: You have four choic  for each objective type question as A, B, C and D. _L,:/C:J’?}alllr{.g,;.glr

The choice which you think -—~'correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or  .ng two or more circles will result in zero mark in that question. Attempt as

many questions as given in .bjective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) willbeaddedin 44> + 4ab to make a gl SLLSWE U 4g? v 4y (1)
complete square (A) ab (B) b* (C) 2a (D) 2b
(2) HCFof 4* + p*and a® —ab + b’ is- ' K at—ab+ b 4 @D (2)
(A) (a+b) (B) &> — ab + b° €) (a-b) (D) a* + b’
(3) A statement involving any of the symbols -Q.LEM/ -'é_l?J‘_;;xu-'._;.fiJ:’/c.uf < > ¢ £ 2 Ju’-ugd[ (3)
<,> , > or < iscalled- (A) Equation <=l
(B) ldentity m/»{._:f.ofmf/:"’i:auvuf! (C) Inequality ..-:,I;L//f (D) Linear equation .:.hL/J'..u.{
4) If (x,0)=(0,y)  then( x, y)isequal to:- s (x,y) In (x._O)z(O,y),fr (4)
(A) (0,1) B) (1,0) (€)(0,0) (D) (1,1)
(5) Distance between the points( 1, 0 yand( 0, 1) is:- _g.,i-ﬂti{.)'yub/ (0,1) » (1,0) & (5)
(A) O (B) 1 €) V2 D)2 )
(6) Twolines can intersectonlyat __ point(s). - £/ (‘f’ 4,1:350"_ b (6)
(A) 1 (B) 2 (C) 3 (D) 4 )
(7) If _ opposite sides of a quadrilateral are el Jﬁ{, L AN Liss i (7)
congruent and parallel, then itis a parallelogram. (A)1 B2 (C)3 (D)4
(8) The symbol L stands for:- elpe Lol (8)
(A) Is base to <25,  (B) Is hypotenuse to <7y (C) s perpendicular to ;.»f,; (D) Is angle to « sy
(9) Aline segment has exactly ___ mid-point. o OLBE DAL (9)
(A) 2 (B) 3 (C) 1 (D) 4 ) _
(10) Triangles on the same bases and of the same -ufuﬁ L u:,.me:%'éLléul»lunC’is{axligﬁ..ﬁﬁu.‘fb’ & (10)
altitudesare _ inarea.
(A) Unequal st (B) Congruent -+ (C) Equal £« (D) Parallel JJi#
(11) The right bisectors of the three sides of a triangle are:- ..L,fz'_m..&-’td»fcﬁ{, Wolrl e ds (11)
(A) Congruent J-L?-‘ (B) Collinear L34 (C) Concurrent Juf(T (D) Parallel $J1#
12) f4=1 2]andp - i ?]then AB  will be sz AB ?f;Bz[z 0} Asd=1 21/ (12
3 1

equal to:-  (A) [4 2]

(B’H ©[s 2] o) m

T A g0 suniludn 4 o P B el (S P negl (19)
where P , 4 areintegersand 9 is not equal to zero, called:-  (A) Real numbers ;lﬁl-ﬁ’ q

P
(13) All numbers of the form

(B) Irrational numbers ;LleL’i:/;; (C) Rational numbers Jlﬁig}bt (D) Whole numbers ;wu“r

(14) The logarithm of any number to itself as base is:- b ___ ..,b’.?mxd:JMJﬁ@Lwa i (14)
(A) 1 (B) 0 e s (D) 10

(15) @ + b’ is equal to:- (A (a-b)(a* +ab+b") s d +b (15)
(B)(a+b)(a2 —ab+ b*) (C) (a=b)(a* —ab+b*) (D) (a—b)(a* +ab-b")
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Note: You have four choices for each objective type question as A, B, C and D. - :/’:;J}[‘;..:. Uy o o Jl

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will resuit in zero mark in that question. Attempt as

many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If 4 and p are two square matrices, Kz (AB)' KT S6G B s A g
then transpose of ( 4B )" will be equal to:-
(A B'A (B) BA' (C) B'4 (D) B4 _
(2) 0.23 is equal to:- -<zlz 0.23 (2)
] 23 23 :
A 3 B 39 (C) 1 ©) 100
(3) log, = where ¢ ~ 2.718 e~2718 £ log,=___ (3
., (Ao (B) 0.4343 (C) ® (D) 1 i
(4) el is equal to:- -4l al-b (4)
W) (a-b) (B) (a+b) © (a+b) ©) (a-b) arh
(5) The factors of x* —5x + 6 are:- g rLInl xt -5x+6 (5)
(A (x+1)(x=6) B)(x-2)(x-3) C)(x+6)(x-1) D)(x+2)(x+3)
(6) HCFof @ —b* and &' - b’ is:- K Gy Mat—B (6)
(A) (a-b) (B)(a+bd) C) (a® +ab+b*) (D) (a® —ab+b*)
(7) x=__ is a solution of the inequality = JCHQK_*»—J‘& -2<x< % et x=__ (7)
S2<x<Z - (-5 B3 (©0 ;3 -
(8) Point ( 2, -3 ) lies in the quadrant Ok UL (2,-3) 5 (8)
(A) | (B) I ©) 1l (D) IV
(9) Mid-point of the points (2, 2)and (0, 0)is:- e Bidek (2,2) 4 (0,0) B (9
(A) (1, 1) (B) (1. 0) (C) (0, 1) (DY (=1,~1) .
(10) The value of 'x' in the given triangle will be:- -d’m:.fu'x' aw&fa, (10)
(A5 (B)2 (C)3 (D)9 0. x 5
dem
Sem
R ;
(11) The Medians of a triangle are:- Sl el (1)
(A) Parallel $1# (B) Congruent J;l.? (C) Concurrent .&‘ﬁ(’r (D) Similar &

(12) The right bisectors of the sides of an tiangle -t L TRV L b o Lot S L L ke (12)

intersect each other outside the triangle.
(A) Right angle .s1J=4F (B)Acute angle .slynmb (C) Obtuse angle :,.-U,.g/'ﬂ" (D) Bisector of angle —i# (Kl

(13) If aline segment intersects the two sides -8 LE% Ani /] ﬁﬁﬁm@f{,m»&&ﬂsﬁ.ﬁﬁ (13)
of a triangle in the same ratio, then it will be _ to the third side.
(A) Parallel $Jji# (B) Congruent urb"’ (C) Similar % (D) Concurrent .fzilf
(14) __ figures have same area. -u}J:@:b:J,}JJﬁf (14
(A) Congruent J*b”* (B) Different ¥ (C) Parallel i+ (D) Unequal 4%
(15) The diagonals of a parallelogram  each other. -u,?;—/’ o U(c- /.-;..{fiséblwidjf? (15)
(A) Bisect i (B) Trisect &£ (C) Bisect at right angle —i<"($»f (D) Parallel bisect <15
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| 2017 (S) Lz ) A

SSC PART-l (9th CLASS) L\y/
MATHEMATICS (SCIENCE GROUP) GROUP- b - S ) G
TIME RLOWED: 2.10 Hours SUBJECTIVE ¥l 210 = &
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number _c".&,»dg.{.jff.@é &/JJ/:}:ZJJI/:}JIM:{QKQM &

and its part number on answer book, as given in the question paper.
SECTION- Jil.o

2. Attempt any six parts. 12=2x6 -zf/fuwﬁlilﬁ'c..d/ _Z/Jif
(i)  Define Diagonal Matrix. 5&/&%&/; (i)

(i)  Verify thatif B = [; 0}thenw-:nfythat(!.‘)’) =B (B)‘-Bfild,me [2 H /i (ii)

2
iy Simpiy, [ 32y 'z ) 3254y A4 i)
625xyz™* 625x*y 2™
-2 w2y g )
(iv) ~ Simplify and write your answer inthe form @ + 6i T _4Uu!fJ a+ bi [_.,f,z%_u,i_é/f W v
(V)  Findthe valueof * when log, 64 =2 log, 64 = 2 ,ﬁiﬂﬂij x o (v)
(vi)  Express as a Single Logarithm. 2logx — 3log y 2logx —3logy -qﬁ)i‘fgfﬁb%b (Vi)
(vii)  Reduce the given rational expression to the lowest form:- (x E 4 324"}’ de"uﬁfzﬂz & (vil)
x-y
|
(viil) If x=+/3 +2 then find the value of % -g:rrsi".:éd/ T M x=V3+2 f (viii)
(x) Factorize. 125x’ — 216y’ 125x° — 216y° -:Z,:J/ (ix)
3. Attempt any six parts. 12=2x6 Eijenlinge i 34y
()  Define Least Common Multiple(L.C.M). R (4 RO

(i) Find the square root of expression using factorization.  4x* — 12xy + 9y? -,ér!""' 5/’1%5367-’413: (if)

3x x-2_25 3 =x-2 25
Solve, — -~ — - L&

(ii)  Solve R - : il S i)

(v)  Define an Ordered Pair of Real Numbers. -¢q_g /’&.Ji...yf.ﬂ&/&” (iv)

_u:/?)h’uf'fp(“c" A "m" JJJ/./.A',.I/U’J y=mx+c { 2x = y+3ebes (V)
(v)  Express the equation 2x = y + 3 inthe formof y =mx + ¢ and find the values of "m" and "c" .

(vi)  Define Coordinate Geometry. e 43{» /’J JAREr WY (vi)

(vil)  Find the distance between the following pairs of points. SEeebienl il b8 S3ts (il
A(21_6): 8(35 _6)

(vii)  Define Congruent Triangles. . 45%/’&?’5 J @ (vili)

(ix)  Define Parallelogram. -J./uy /’J Cueigie (ix)

(é' JJJ)




Vil Belgye
4. Attempt any six parts. 12=2x6 . ff/ /_,u;z:f /i;:,df 4 /le
() Define Bisector of an Angle; T TS i c{J/JJL.f:,nU )
(i) . Whether the given measures are the lengths of a triangle? - “u/ i g yzubLfd/_JﬁJ'/ ok k‘fdﬂ/ (i)

. Ifnot, then why? 2cm,. 3cm: and - 5cm |
(i) Define Similar Triangles. e L s _;é.wuct,w (il
(iv) - Inlsoscele APQR find the values of » _“é()”u:“‘-‘-tf Y # X U POR . SBAUGS (),
~ x and . .

- 10¢ .

. 0 R
6ecm Y Y AT S
() Whatis meant by Rectangular Region? "L:tha..,uo"w (v)

(vi)  Verify that given measures are sides of a right angled triangle. -u‘t,‘?d/uim’)f Aoy oy ¥ M’if-uf UL; $ (i)

a=16cm, b=30cm and c =34cm

(vii)  Find the value of unknown "x" dg;fpt";»f §x p"”ta.f&fd: (vii)
from the given figure. dem 3

_ . 3cm

(vii) What is meant by Circumcentre of a Triangle? q.ﬂ/bﬁ-_f/a/lfﬁubf, (viii)

mCA =3.6cm i mBC =39cm « mAB =42cm JL))JL/ AABC  (ix)
(X} Construct AABC , inwhich mAB =42cm , mBC =39cm and mCA =3.6cm

SECTION-I| (D2
24=8x3 il Q/JL-/ d{/quﬁLuUb’Uf&.d[ ey

NOTE: - Attempt any three questions. Question No.9 is compulsory.
5(A) Solve by using Matrix Inverse Method. ~ 4x + 2y =8, 3x—y=-1 Sl S o (...nJ!) 5

i NaF b b b+e e \et4a
~(B) Show that [ — J x [ = ] x ( = ] =1 et (?)
X X X .
6.(A) Use log tables to find the value of $/2.709 x Y1.239 e ;.JAJJ});(%@ (-6

_q/?PJJ X+y+z I xy+zy+ zx=359 2 x2+y2+zz=?8ﬁ ()
B) fx*+y*+2°=78, xy+zy+ zx=59 thenfind x+y+2z
| - LdS kAT 3 - bk - AR G xv2 S (T
7.(A) If x+2isafactorof 3x* — 4kx — 4&° then find the value of &

(B) Find H.C.F of the following by Division Method. i (L)
X +3x? -16x+12, x*+ x> -10x+8
8.(A) Solve the equation. 5(-"6" < NPT _——S(x; Wi it % Efe ()-8
' ' . 9

_go’{_aﬂtlug,rjigl mAB =5.3cm, mBC = 4.5cm, mAC =3.9cm thé”_b ABC && (O)
(B) Construct A4BC inwhich mAB = 5.3¢cm, mBC =4.5cm, mAC =3.9cm
| Draw also bisectors of their angles.

"9 Prove that'three bisectors of the angles of a tnangle i -wirﬁﬁwtlufstjuﬁéwﬁéaE -9
are concurrent. OR
 Prove that triangles on equal bases and of equal fml/J,msur/r/bwufa.ﬁbiu’ S E et

altitudes will- be equal in area.
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2017 (8) @ / oy
SSC PART- (9th CLASS)

MATHEMATICS (SCIENCE GROUP) GROUP-I ool (o ) S

TIMEALLOWED: 2,10 Hours SUBJECTIVE EL» Lot =
MAXIMUM MARKS: 60 60 = A
NOTE: - Write same question number -c‘-@»u:‘.’;.{.jfr,ﬂzé Ey»/-,“s'z»l/-,“dlru’u,;qwm oY

and its part number on answer book, as given in the question paper.
SECTION-| ;sz

2. Attempt any six parts. 12=2x6 Zfeplingedf 24 )y
()  Define Square Matrix. Z J/J..de’ o)
i) i 4 =[:} ﬂ thenverify that (A4’ )" = A SEY P 4= [{1) ﬂ A i)
J
i) Simply, [ X'z )4 [ rye \ EA i)
T x 2yl

(v)  Simplfy in the form of a + bi 93;? £ /%:J% a+bi (i
(v)  Findthevaluecf x when log,,8 = 32‘- log,, 8 = % SEpredf v)
(vi)  Express in Scientific Notation. 0074 (1) -ﬁd - fj e )

i : - - 8 1 =l & i S i
(vii)  Reduce the given rational expression to the lowest form:- 23(%) -ng,yu:qu,df,zuhZ & (vii)
(Vi) If x=2++3 thenfind the value of % Eped i % W ox=2+3 N i)
(x) Factorize. 8x' +125)° 8x’ +125y° &0 (i)
3. Attempt any six parts. 12=2x6 & fenlimge i 3y
() Find the H.C.F by factorization X 4 5x+6, 3 —dx-12 Sl 0
(i)  Solve. 32—+ =3/2r-28 32—t =32t - 28 -{.ff (ii)
(i)  Solve. |8x-3|=|4x+5]| |8x — 3| = |4x + 5| S i)
(v)  Define Cartesian Plane. E e L«(b ()

-"rr}"’u‘“’dc J’fm/ﬂgu‘ij mx+c { 2x-y=7 ...«bl/d (V)

(v)  Expressing the given equation 2x — y = 7 in the formof » = mx + ¢ and find the values of m and ¢ .

(vi)  Define Scalene Triangle. LSS E (i)

(vil)  Find the mid-point of the line segment joining the points -é;#ysdy;;nw“c.i_ bl b (vii)
A4(8,0), B(0,-12)

(vii)  Define Linear Equation. e () Guk (il

(i)  Whatis the difference between Parallelogram and Trapezium? Se VLIl wngs? (i)

(& o)




(2)

4. Attempt any six parts. g ._ 12=2x6 -éxfuuiif?lic:.gj/ -4/Ulr

(i)
(i)

(iii)
(iv).

V)
(vi)

(vil

Define the right bisector of a\ine segfent, | & s ttfﬂ‘?: B (i)
" Whether the given measures can be the lengths of a triangle?  Sux 27/1 Vgcrquww/ u" i UF d:l/ |

If not, then why? 2¢cm, 3cm and Scm

Define Congruent Triangles. | iy s )

Find x if 45| OR AB|OR JgEmedl v W)

What is meant by Altitude of a Triangle? (‘:_;/J:..erﬁwu W)
Verifty that the given measures are sides of a right angled triangle. -u‘dful«,siﬂl A uvw@;fé dﬂ- (vi)

a=9cm, b=12cm, ¢=15cm

From the given triangle - -épl’”of: S x c'...-"'Jr'L; G (vil)
find the value of x
dem | X
]
3
What is meant by Centroid of a Triangle? . fe il /Lf.:.u,&éwu’( (viii)

Construct AXYZ in which mXY =6.1cm, mYZ =7.6cm, msiX =90° U u’ & AXYZ (ix)

SECTION-I (1.9
24=8x3 s 9, )i Efelpl et i o

NOTE: - Attempt any three questions. Question No.9 is compulsory.

5.(A)

Sovle by using the Matrix Inverse Mgthod. — 4x + y =9, —3x - y = -5 el pFl s ()5

Simely, 2 4 % (27)° 5 x (60) 2/3 x(27)’3 x (60) 2 S
(180)2><(4) 3><(9)4 (180)2><(4) £ ><(9)f4
Use log tables to find the value of:- 0.678 x 9.01 -”érk”u.c,uﬂwﬂ@ ()-6
0.0234

fa+b=10anda - b =6 thenfind (a* + b*) -u:/?}“ (@ +b*)Ma-b=6Ma+b= 10 /1 (o)
Factorize. 8x' — 125y - 60x*y + 150x)° -u:/o'x; (.7

Use Division Method to find the square-root of the following expression:- -/ /¢ /bjgfﬁjj,_amf:w 25 ()
x* =10x’ + 37x* - 60x + 36

Solve, 3(*¥=3) __,_ % 5(x=3) L _1_*.2f (J).8
6 9 6 9
Construct A4BC and draw the bisectors of the angles when .?;ifldﬂtﬁug:lbﬂd b ABC & (L)

mAB = 4.5¢cm, mBC = 3.1em, mCA =52cm
Prove that if any point equidistant -gﬂéls{ﬁtdﬁfébﬁd fﬁas?ﬁﬁlﬁ'ld:l/;.uyibﬁf/ N 9
from the end points of a line segment will be on the right bisector of it. OR |
Prove that triangles on the same base and _J Uiy Ursil e #6E u’uﬂ’ Lflfé o1
of the same altitude will be equal in area.
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